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(1) 3ax + 5ay

a(3x + 5y)

OB

(3) 8xy — 4xz

4x(2y — z)

(5) 7t3 — 14t + 14t

7¢(t? — 2t + 2)

2 [x% + (a + b)x + ab BY]
RO % REITARE L 70 T\, (1 #1%6)

(1) x2+4+7x+ 10

(x+2)(x+5)

(3) x2 4 4x — 12

(x—2)(x+6)

(5) x% + 13xy + 30y?

(x+2y)(x + 15y)

(2) m2 —mn

m(m—n)

(4) 3x%y — 15xy?

3xy(x —5y)

(6) 5p2q — 15pq? + 20pq

5pq(p —3q+4)

(2) a2+ 13a + 36

(a+4)(a+9)

(4) y? — 5y — 84

y—-12)(y +7)

(6) m2 — 8mn + 12n?

(m-2n)(m—6n)
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1 [a? + 2ab + b%, a? —2ab + b*BY]
ROA % KEIAEL 72 o (1 six6)

(1) x2+6x+9

(x + 3)?2
(3) x% — 16x + 64
(x — 8)2
(5) 64x2 + 80x + 25
(8x + 5)2
2 [a? — p%8Y]
RDOA % KEG L 72 T, (1 #%6)
(1) x2-9
(x+3)(x—-3)
(3) 64x% —25

(8x + 5)(8x —5)

(5) 9m?2 — 0.25n2

(3m+0.5n)(3m — 0.5n)

(2) a? + 20a + 100

(a+10)?
(4) y? — 40y + 400
(y — 20)?
9 3
(6) 1gp* —5pq +q°
3 2
(37-9)

(2) a®? —100

(a+10)(a—10)

p+3)0-3)

25
24,2 2
(6) 4x2y 517

(2r+37)(2-5)
xy+9z xy—gz
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(1) 2x% + 16x + 24

2(x+6)(x+2)
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(3) x3y + x%y + %xy

(4) 3a%c —9abc — 84b%c
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(1) a(x+3) + b(x + 3)

(x+3)(a+b)

(3) (a+3b)% —4(a+3b) — 32

@) (x+y)?—2(x+ @ —2)+ (y — 2)?

(2) 64a%x — 32ax + 4x

4x(4a — 1)?

3c(a+ 4b)(a—7b)

(2) ab+2b—3a—6

(a+2)(b—-3)

(a+3b—-8)(a+3b+4)

(x+2y—2z)(x+2)
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(1) 2x2+7x+3

2x+1)(x+3)

(2) 6x2 +5x — 25

(3x—-5)(2x+5)

(3) 9x2 + 64xy + 7y?

Ox+y)(x+7y)

4) x? —xy — 6y2+ 10x + 5y + 21

(fd 1)
x%+ (10 — y)x—6y* + 5y + 21
=x*+(10-y)x— 2y+3)3By—-7)
=(x+2y+3)(x—-3y+7)
(fik 2 )

(x+2y)(x—3y)+10x+ 5y + 21
=(x+2y+3)(x—-3y+7)

(x+2y+3)(x—-3y+7)
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